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BE| Th T% 75 15 90 291 | 679 A 7h B= 15 51 96 187 | 773
B L EE 43 12 85 168 | 68.2 1 %zEE R | 45 54 99 212 | 718
*3 X8 Bh 12 49 01 993 | 68.] 13 #AM @A 18 19 97 185 | 785
*4| HE Ems 15 14 89 20 69 34| EF =—H5 | 50 18 08 193 | 78.7
*5| _hx 50 18 08 281 | 69.9 %45 BE BaA 18 20 88 9. 78.8
6 ES 2 16 39 85 149 | 70.1 16| WUTF E— 19 15 94 150 | 788
>/ /A f& 50 44 94 233 | 70.] VIS 15 14 89 9.8 79.
8| @ &% 13 38 81 9.6 71.4 18] 2%h = 17 50 97 175 | 795
of mE % 13 44 87 156 | 71.4 N BE B 19 59 101 | 206 | 804
*10]_$hE ik 14 44 88 164 | 716 %50 FE mE 14 45 89 8.5 80.5
NRETE 15 19 94 293 | 717 51 3AE FIR 49 15 94 135 | 805
12 E# BAA 18 43 01 192 | 71.8 52| B E& 19 44 93 12 81
13 &A@ 5 12 42 84 1.8 | 72 53| mEfE E—B8 | 49 52 101 191 | 81.9
14| _thRIfF —% 20 13 83 10 73 54 sl EX 61 45 106 | 238 | 82.2
*15| BE &H—BF | 48 43 01 177 | 733 %55 IUF &S 59 16 105 | 226 | 824
16| B B= 14 15 89 156 | 73.4 56 2B BB 50 16 96 106 | 854
11| AR B— 53 15 98 246 | 734 57 kB = 56 51 107 | 215 | 855
18| E#dE #— | 47 47 94 202 | 738 58] FRE BA 50 49 99 125 | 865
19 =B #l— 16 15 01 171 | 739 50| bk =R 51 53 104 17 87
*20  ®& = 18 14 92 18 74 60 AR =& 47 55 102 | 129 | 891
[ TR B—88 | 47 44 91 168 | 74.2 61 &4 2h 65 56 121 252 | 958
2| Bl 85— 16 15 91 16.8 | 74.2
23 B = 51 49 100 | 253 | 747
24 M B 44 44 88 1320 | 74.8
*gg gt i&; 18 4c7; 38 208 752
7 =% 14 i 14, 75. =
o7 Lz E B= | 48 44 92 16.7 | 753 BG| X&E R | 40 40 80
28 EW Bk 12 19 01 156 | 754
20| INEFE Bk 19 14 86 105 | 755
%30 B® £— 58 50 108 | 325 | 755
31| Ex @— 16 49 95 191 | 759
32| =Y BHX | 46 53 99 298 | 76.2
33 Wl B 19 44 93 167 | 763
34| El &% 42 38 80 3.6 76.4
235 JIE it 10 47 87 106 | 764
36| JIlE E® 14 47 01 144 | 766
37| k@ 5= 53 52 105 | 282 | 768
38| KiE = 40 40 80 3.1 76.9
39| #0M EE 48 47 95 18 77
%40 fi— 18 47 90 127 | 713
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41 RKilti E— 48 52 100 27.3 12.7
12] HRH tHF 47 11 88 15.2 12.8
13| &K AF 49 50 99 26.1 12.9
44 EIR EH o1 46 97 23.8 13.2
w45 EHE AR 4] 43 90 16.5 13.5
46| W@ EEBEF 51 47 98 24.1 13.9
47| Bg EF 53 48 101 27.1 13.9
48] 18R BE— 44 42 86 11.9 14.1
9| TH —#F 44 45 89 14.4 14.6
50| /Ml A8 48 47 95 20.4 14.6
51 sk ==k 47 47 94 19.2 14.8
92| Z5F HAF 40 43 83 8.1 14.9
o3| Bk £ 47 45 92 17.1 14.9
o4 mE AR 46 52 98 22.2 15.8
55 ZEH =% 50 49 99 22.9 16.1
06| F BEF 43 44 87 10.8 16.2
57 =X IEF 49 49 98 20 18
o8| EO =R 48 55 103 24.9 18.1
09| BMH IFsE 52 44 96 11.5 18.5
¥ 60 BE & 49 53 102 23.4 18.6
61 Al & 52 52 104 25.2 18.8
62| XEH =F 49 46 95 15.9 79.1
63| BH EF 51 44 95 15.5 719.5
64| He B 50 47 97 16.7 80.3
65 £H }*tE 58 42 100 15.2 84.8
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BE ARE W= 39 36 15 12.5 62.5
T R fE— 46 43 89 23.1 65.9
w3 EH BX 41 41 82 15.4 66.6
w4 B%HH F 5 45 39 84 17.3 66.7
*5| WTF AFE 44 39 83 16 67
6] =H BAX 44 40 84 16.9 67.1
i BEAR # 43 41 84 16.9 67.1
8] wiIg EiE 41 42 83 15.3 67/.7

9] BER B= 37 42 19 10.4 68.6
»*10] #&F X 41 41 82 13.4 68.6
11] 20 A 42 41 83 14.2 68.8
12] sl BE— 38 45 83 14 69
131 =% #F08| 46 39 85 15.9 69.1
14] /i FiiS 56 45 101 31.6 69.4
15 Af €& 47 44 91 21.5 69.5
16] 3ER H 40 46 86 16.3 69.7
17] % EE 46 47 93 23.3 69.7
18] Ak =Y 42 37/ 19 9 10
19 =1 41 41 82 11.9 /0.1
»20| #BHE #EE 43 44 87 16.9 /0.1
21| HIE FYF 50 48 98 21.9 /0.1
22| X% BB 43 51 94 23.8 10.2
23 =K B 46 53 99 28.8 70.2
24 ER K 45 41 86 15.7 /0.3
25 ® S 49 44 93 22.7 /0.3
26| EfE 5 44 38 82 11.4 10.6
2]] fE&ie &B 50 48 98 217.4 10.6
28| FHER ¥HS 49 49 98 217.4 10.6
29 MR EB 41 48 89 18.2 /0.8
30 T & 42 45 87 16.1 /0.9
31] TFHh HEF 43 46 89 18.1 70.9
32| K =F 45 46 91 19.9 /1.1
33| #E HH=E 53 95 108 36.9 /1.1
34| KEX ECD 44 43 87 15.6 /1.4
w35 fEh FEH 44 40 84 12.3 /1.7
36| {#H #% 4] 4] 94 22.2 /1.8
3/| PAH #R¥E 45 44 89 17 12
38| =H =B 44 41 85 12.7 12.3
39| Ex FlE 44 44 88 15.7 12.3
40 E IV 48 44 92 19.3 12.1
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